EARAZROREIERT — 2 N— XBISY —F 20215281680 (&) 17@KH2H

IGR V2% —M% C2/\A ‘ (XM&] W ‘ (sl — | 4 (%) 16000 &
[A&4] 1 7% :1,000,000 @ .~ 2 7 :400,000 @ 33 :250,000 4 3#%:150,000 @ ~ 5 7% :100,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
111111 >x3=3173 # 7| ERX 1:(&).9 1-1-1-1 396 — | 5 | 515 i#ﬂﬁ?é (INtR)
RHIRTA TSR BRY—Y (-5) NG S
o 9 N AR5 142, -10-4~ . — mitdE (KHF)
olgl14 7')1Al/’f/ 6 56_0”1 1(442)7 10-10-4-4 | 39.7 6 (4_9‘8 OB
LA agyLyy B:IUJNE1H =EicEae
. e . Y _ Wi (k)
N BEES e | B% R EE:
L:2%— k770> BHLIXTULY Elabie]
: o4 | RIBESR 1:43.4 8-8-8-8 |40.2| — 13 | 479 |fEEES (KH)
N : REEZELY 56.0 (3 1/2) L |EEEE
L:707% B:A-XIT7TX EE2ie ]
i )= o6 | BEARE 1:43.5 7-7-7-7 | 40.4| — 4 507 | BRA—HR (KFH)
5 11 Y7/ T AF - 56.0 (3/4) 4o | EII=E
LGy —3YTr BYITIAFRT RS
N N #1138 :43. -9-10-~ . — JEEBRIR (KH)
6l 5 7RI ES "7 5o 1{'13)7 om0 1408 2 (ﬁi AEEELE (H)
R:7UF—-v B:hL/TL—"Tq JIE 15k
3 SV e 4 5 | AEEE 1:43.9 5-4-6-5 |40.8| — | 7 | 455 |MEHFEE (I
7B 2 | TVETEXRLTR 56.0 (3/4) @) | B Srntra—Fvaru
RFLGTARZN BIALTT4F— b 1A
N HATHE : 55— = A= (X#H)
glslg| /—TNT2—F+ i 5 FIET T (11.414/.41) 4-5-5-6 | 41.1 1 :_760) A
L:7UF—-v B4 7Y NEERR EIE
9 ol 777U ez B4 Eﬁl‘(% 1:(424).5 2-2-3-3 |41.8| — 8 :411?) gl;:ié (KF)
X:Avaizgr—X B:T75474T775Z EiERE
— - S (S EIHEER : —6-9— = KEZE#H (KHF
10l8l13 ZFSTLHL RS 4 4 54.05 1(.14/42.)6 6-6-9-10 | 41.5 12 (4_517) Emga
R b=t KILES BRxATLIYLRT J—¥T L
L= . HEE : -12-11- — BER (KH)
1lsl 7|75 enx= Ho4 S 1.(:35).2 12-12-11-11 42.1 3 ?g()) e
R:ECTFAVY B b OHFX RIS
N RRI&E : -13-13- — MEME (KH)
" i it 4 L 1.(415).4 13-13-13-13| 41.3 14 (4:53 henz
R:Zv—b77)a> BYLEALL—Z— (ELaEEAIES
-+ . _11-19- _ FREARE
13 6l NIy TY -0 44 S%J%EA (17.25;1) 1-11-12-12| 41.6 10 :1_328) Z’%E%Fﬁ ()
R:F—TTUSLTF BiHvNTIT— hid  HEER
S RHEE— 146. —14-14— . — YEITIZ (/i)
14 4 TLA—<1k 4 6 B 1(446)2 13-14-14-14| 41.7 9 (4+838) i%?kﬁﬁ!é/
R:Tv TRy b BILA—T73IU— hilkse
® 1 —F—@EBIERL
1T=7r= 1,10,9,8,2,13,11,3,5,14,6,7, (4,12)
20—F— 1,10,9,2,8,13,11,3,5,14,6,7,12,4
Ja=9= 1,9,10,14,8,2,11,3,13,5,7,6,12,4
40—F— 1,9,10,14,2,8,11,3,5,13,7,6,12,4
[ /N
B O 1 880H 74K 1-14 1,650H e E 1-8 6,800 JEE 1-9-14 3,530
B B 1 220M 1-9 370M e B 1-8 12,250 3B 1-14-9 39,680
14 460M 9-14 810M B E 1-14 7,040
9 1209 B H 1-14 13,070M

ARICOVWTRDTEEERROODE. TR LI,




